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64|2,6-=-tert-JFI)L-4-AF)LTx /) —)L 128-37-0 135 B 3 |—h% | 4 0.011 0.008|—#% 0.000091 0.000091 | BAREE 100 |EAHEE| 2015
157|4— (1, 1, 3, 3=-FKhSAFILIFIL) Jx/—J)L [140-66-9 994 14| & 3 |—h% ho| 4 0.00096 0.025(—#% 0.000024 0.000024 |BER (KEEYD) 0.0006|EEH (OK&ESEY) | 2017
4, 4'— (TJO/\>-2, 2->A9)) 2Tz /-)L (Bl%
75|14, 4'—-«(VOEUF>ST1 ) —JLX(EERT T/ —)L|80-05-7 999 12| & 4 |EIERE ho| 2 0.000042 0.5|4EFEFRAE 0.000021 0.000021 |ERAA 0.0000000016 |EAFE 0.00053|EHAE 2016 0.0017 |BAXHFEE| 2014
A)
154|700~ P> 108-90-7 21| 4 |—#% h | 3 0.0018 0.1|—#% 0.00018| 0.00017|BARAE 0.000015|BAAE 0.42| BEAHE 2014 0.00037 |BAAE 2014
96| uONFH> 110-82-7 22 s | g1 2 0.00000036 0.65|—#% 0.00000024 0.00000024 |BAAE 0.0000059 | EAAEE 2014
170|7H> -1 -A—JL 112-30-1 B 4 | & | 5 0.0000016 0.33|—#% 0.00000052 0.00000052 | BAFE 0.000013|BAAE 2017
215 Z’Gx?)ﬁ'ji/'&x)w{ b BRFOSANETS 137-26-8 390 177| &t 2 |—h% o 5 0.022 0.0024|—#% 0.000052 0.000052 |{@FRIER 0.0013|f2RIEE 2013
190 NUITFILFZ=> 121-44-8 981 22 3 |—#% % | 5 0.0022 0.017|—#% 0.000038 | 0.00004 |BAAE 0.095|BAAE 2013
219|DABE R RUJL 1330-78-5 1086 276 E 2 |—h& ho| 4 0.0005 0.004|—#% 0.000002 0.000002 |ERAA 0.00005 |EREE 2015
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2 | U5 | #E | PEC/PNECEt | PNEC[mg/L] PNECHRHL PEC[mg/L] UFs
TE| X BE[mg/L] B FE
11{1, 2-2oOO0x49> 107-06-2 5 gt 3 3 0.16 0.1|FFRE - 181 ESIHE 0.016 0.016|fERIEH 2017 10
124|1 -J%J—)L 71-36-3 B 3 th | 4 0.0020 0.082|EFRRAE - 18 M MHE < 0.00016|< 0.00016|BAAE 2015 50
110{2 - (2 -IbhF>IbF3) TH/-)L 111-90-0 B 44 5 | 4 0.00048|= 1[7558 - 1BMSBHE 0.00048|  0.00048|BAAE 2015 100
52| 0 —oOOaR> > 95-50-1 398 23| 2 | 4 0.0037 0.002 |EF7EAE - 1SS MHE < 0.0000074|< 7.4E-06|2AFE 2016 1000
32|7OVUILBETFIL 140-88-5 1044 B 2 rh 5 0.27 0.0011(£4E - 2tES1HE < 0.0003(<  0.0003|ERA&E 2015 1000
39|7oVUO=kUJL 107-13-1 1057 B 2 b 4 0.029 0.0051(£4E - 2ttS1HE 0.00015|  0.0002 |EHAE 2015 50
114|712z k> 67-64-1 B 4% % | 4 0.24 5.5|f%8 - 2MSMHE 1.3 1.300 |EBHE 2013 10
105|TFL>FUa—IL 107-21-1 B 4t 4 1 3 0.00036|> 20548 - 2B MEE 0.0071 0.0071|EXAE 2016 1000
22|TE OOERU> 106-89-8 1026 B 2 th | 4 0.19 0.01|%4E - SEHBMEME 0.0019 0.0019|EER (AL 2013 10
6|o00X5> (BlBIEEXTFIL) 74-87-3 370 2 3 | 3 0.00019 0.09|#4E - SEHBMEME 0.000017|  1.7E-05|BAFHE 2016 50
68| L J5ILEE 100-21-0 1080 B 4% % 1 3 0.0011|> 0.36|3%48 - 2MESBMEME 0.00039| 0.00039|BAAE 2016 50
108| NULTH /—ILT7 = 102-71-6 gt 4 |7=>4E | 2 0.017 0.16|FRE - 181 SIHE 0.0027 0.0027|2XAE 2016 10
37|= bV O=HEE 139-13-9 802 gt 2 |P=o4E ho| 4 0.75 0.006 (%58 - 181 S B 0.0045 0.0045|EXAE 2017 100
62|7x/—IL 108-95-2 1069 B 4 ® | 4 0.083 0.12|EFREE - 18MEBIHE 0.01 0.01|Z&:18 (K&E4M) 2014 10
106|7O0EL>TUTI—)L 57-55-6 B 4% g 1 2 0.00027 20558 - 1SS MHE 0.0053 0.0053|2AAE 2016 100
45|R>t> 71-43-2 1063 B 3 o[ 3 0.13 0.016 |48 - 1Bt S1HE 0.002 0.002|f@RIEE 2014 50
15| XAFILTFILT b 78-93-3 B 4% 5% | 4 0.00072 1.8[348 - 1B BIHE 0.0013 0.0013|BXAE 2015 1000
81|EILRU> 110-91-8 1005 2 3 |7=>48 | 4 0.0030 0.1|EFRE - 1BMEESIHE 0.0003 0.0003|2XAE 2014 1000

ADEREX. LTDBEYKRDS,

(ANDILZEME D HETE — B REZEE[mg/kg/day]) EHE = EXPDW + EXPF + EXPA
(BREL K M S DIEELE [mg/kg/day]) EXPDW = Criver_man*INTKDW/BW
(BN EEH L DIEEE [mg/kg/day]) EXPF = Cfish*INTKF/(1000*BW)
(KREMSDIEEE [mg/kg/day]) EXPA = CA*INTKA/BW
(B8R ¥4 7K R E [mg/L]) Criver_man
(BT AR E [mg/kg]) Cfish
(K= FIRE[mg/m3]) CA
(BR#KIEERZ([L/day]) INTKDW = 2
(BT FEEERE[g/day]) INTKF=45.3
(FEIK & [m3/day]) INTKA=20
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